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1 R BIK P X e 34 35 69
2T SR EXEF SWNT 1)yl 35 36 71
2T N 71/ 36 35 71
2T e B 4yay7 36 35 71
5T ARW /B FE72 36 36 72
5T AREAAY—/ BARE tHE 37 35 72
5T ZH thE s 36 36 72
8T Flll FE T 37 36 73
8T EE BE 38 35 73
8T ¥ REE DI ] 38 35 73
8T i EE 74/ 36 37 73
8T KK HFIt YRDIYP, 35 38 73
8T /R E¥ t#pE 38 35 73
8T L8 XA+ LASEDFH 39 34 73
8T Z—H# &1t 4yay7° 38 35 73
16T hE EETE tHE 37 37 74
16T F PHE s 35 39 74
16T &R B KN 78 36 38 74
16T h+t £ BERmE 37 37 74
16T WA =T fik i dal 38 36 74
21T =H fEE KE/& 38 37 75
21T ¥H EF 4yay7 36 39 75
21T ZX FOY YRDIYP, 38 37 75
21T INFREEAD0 LASZEDFH 38 37 75
21T ZH FLF 71/ 37 38 75
21T F X5 fik i Jal 38 37 75
27T B RE1E t#pE 38 38 76
27T WE 54 4yay7° 39 37 76
27T ZiE T 4yay7° 38 38 76
27T ME 4yay7° 39 37 76
27T LR i3 BERmE 40 36 76
27T J\R FE y—bTH) 40 36 76
27T FE #H LfE 39 37 76
27T /N = dt#HE 36 40 76
35T AFE IMNE 8yay7’ 40 37 77
35T g BE t#pE 38 39 77
35T 2R XK 4yny7’ 38 39 77
35T A BE dt#HE 39 38 77
35T H #E dt#HE 38 39 77
35T HE Bf 5yny7° 38 39 77
35T FakE FEF Fit el 39 38 77
35T FA ETE R 40 37 77
35T KiE 3 =R 38 39 77
35T #HHE FIE t#pE 37 40 77
35T T X258/ PN LAY 37 40 77
46T BE ETt fik i 39 39 78
46T ;L % 5yny7° 41 37 78
46T WA = 4yny7’ 38 40 78
46T BE BRE LASEDFH 40 38 78
46T =28 Bt =R 38 40 78
46T T ES [k Jal 41 37 78
46T HFT W& =R 37 41 78
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46T Mk 2B ENIYATY 39 39 78
46T FM IE =R 42 36 78
46T NI S5 74/ 36 42 78
46T Bk FEH R 39 39 78
46T A¥ #5% YRDIYP] 40 38 78
46T T E£EE LALZEDFH 38 40 78
46T B kB 4yay7 38 40 78
46T £H X 4'yay7’ 39 39 78
61T b A& KHIYIIAL 41 38 79
61T AR B Pk 41 38 79
61T mE & FE72 39 40 79
61T KAR #E KB 7Yyh 41 38 79
61T Wa £H Fick s 43 36 79
61T P2 YRDIVP 38 41 79
61T S LASEDFHE 40 39 79
61T 2f B4 dt#pE 38 41 79
61T ¥ EEW KB 7Yyh 37 42 79
61T P H I =R 40 39 79
61T KAR K= KB 7Yyh 39 40 79
61T Bk 0ED Pk 36 43 79
61T BTH EE FE72 39 40 79
74T WA Bl 4yay7’ 40 40 80
7AT INR X 4V t=h 40 40 80
7AT BH B BERmE 41 39 80
14T &I S5& =R 40 40 80
74T ELEEd= R 41 39 80
7AT Hft =% t#pE 38 42 80
74T iR #& PEE)= 44 36 80
7AT KB ERF =R 39 41 80
82T #A ERE LASEDEE 44 37 81
82T =28 X2 LASEDFE 42 39 81
82T A =% 74/ 41 40 81
82T BTEH EH FER72 38 43 81
82T ¥ EilE LASZEDFHE 39 42 81
82T BAX XA fik i Jal 39 42 81
82T TH IBH [k Jal 40 41 81
82T ki & FE72 42 39 81
82T WA 8 LfE 40 41 81
1T A HIH FEb72 42 40 82
9T FAE X 4yay7° 41 41 82
9T WFE HHY KERN7 vl 43 39 82
9T RF £t 4yay7° 42 40 82
AT B ¥ RE/& 43 39 82
9T &% M3 =R 41 41 82
AT £k ZF LASEDFH 44 38 82
98T 5HF X FA-DRYY 43 40 83
98T W 555 5yny7° 43 40 83
98T 0O e EE SN Tyl 44 39 83
98T R B £HIYIIAb 42 41 83
98T BO & 5yny7° 44 39 83
98T =SH 2%k RE/& 41 42 83
98T TR #HA 5yny7° 42 41 83
98T A X SN Tyl 41 42 83
98T BT #E FA-DRYY 42 41 83
98T B EH t#pE 41 42 83
98T ESH B t#pE 37 46 83
109T INR EE =SNT Y 41 43 84
109T ke A% =R 40 44 84
109T B B =R 42 42 84
109T e FEE FEB72 42 42 84
113T BH Gk FL-TRYY 44 41 85
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113T FENCEEDE KE 42 43 85
113T )il BHE ik 40 45 85
116T BE BE R 42 44 86
116T FEbE tEHFIE =R 42 44 86
116T BAR = =R 44 42 86
116T RF —% PNUYARY 43 43 86
116T INE FE72 43 43 86
121T BRIl 7= ENIYATY 42 45 87
121T iR BE 1€ B ER 45 42 87
1217 WX MER SN TYyh 44 43 37
121T BHE ImE BE 39 48 87
125T AKX BHRE KE 44 44 88
125T AH BE LASEDFE 41 47 88
127T &0 X5 = NYATY 41 48 89
127T 1t A0 HBEHE 41 48 89
127T WE Z=E FE72 42 47 89
130 FHE =F =R 48 42 90
131 25 BHF 1—pA—)) 45 46 91
132 £H FEBX KBRN T v) 44 48 92
133T BF #2%0 KBrN7Yyh 50 43 93
133T 2E 85 =SINYARY 48 45 93
135 B HHF =R 50 45 95
136 Al R E SN Tyl 49 47 96
137T HAO E& SN Tyl 46 53 99
137T hE FEHR 4yay7’ 53 46 99
139 iR IR SN T vl 55 45 100
140 X M I—kA=) 49 55 104
NR MHE &5 4yay7’ - — —
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